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INSTRUCTIONS FOR CANDIDATES

1. It is mandatory to fill one option for each question.
. All questions carry equal marks.

3. Only one answer is to be given for each question. If more than one answers
are marked, it would be treated as wrong answer.

4. The OMR Answer Sheet is inside this Question Booklet. When you are
directed to open the Question Booklet, take out the Answer Sheet and fill
in the particulars carefully with BLUE BALL POINT PEN only.

5.  Please correctly fill your Roll Number in OMR Answer Sheet. Candidate
will themself be responsible for filling wrong Roll Number.

6. 1/3 part of the mark(s) of each question will be deducted for each
Wrong answer. A wrong answer means an incorrect answer or more than
one answers for any question.

7.  Each question has five options marked as 1, 2, 3, 4, 5. You have to
darken only one circle (bubble) indicating the correct answer on the
Answer Sheet using BLUE BALL POINT PEN.

8. If you are not attempting a question, then you have to darken the
circle ‘5. If none of the five circles is darkened, one third (1/3) part of
the marks of question shall be deducted. 1

9.% After solving the question paper, candidate must ascertain that he/she
has darkened one of the circles (bubbles) for each of the questions.
Extra time of 10 minutes beyond scheduled time is provided for this.

10. A candidate who has not darkened any of the five circles in more than
10% questions shall be disqualified.

11. If there is any sort of ambiguity/mistake either of printing or factual
nature, then out of Hindi and English Version of the question, the English
Version will be treated as standard.

12.  Mobile Phone or any other electronic gadget in the examination hall is
strictly prohibited. A candidate found with any of such objectionable
material with him/her will be strictly dealt as per rules.

Warning : If a candidate is found copying or if any unauthorized material is
found in his/her possession, F.LR. would be lodged against him/her in the
Police Station and he/she would liable to be prosecuted under Rajasthan
Public Examination (Measures for Prevention of Unfair means in
Recruitment) Act, 2022, other law applicable and Commission’s
Regulations. Commission may also debar him/her permanently from all future
examinations.
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- Which of the following ruler had an important
role in the Battle of Bahadurpur?

(1) Mirza Raja Jai Singh

(2) Maharaja Jaswant Singh
(3) Maharana Karan Singh
(4) Maharana Raj Singh. -
(8) Question not attempted

= a
LY £3
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- What are the main features of ‘Rammat’ folk

drama?

{i) Only people of a particular community
participate in it.

(ii) ‘Teriyas’ and, ‘Singers’ plays major role in

" this.

(iii) The characters sitting on the stage gives their
performance and then take their seats again.

(iv) Its language and regional flavour keeps it
-connected to-one particular region. _

Select the correct answer -

(1) (ii), (iii) and (iv): (@) (@) and (ii)

(3) (1), (ii) and (iii) (4) (ii) and (iii)

(5) Question not attempted

- Which of the following is not a stringed musical

instrument?

(1). Bhapang (2) Bankiya

(3) Jantar (4) Kamayacha

() Question not aftempted

- Elaichi and Kamla were painters of which style

of paintings of Rajasthan?

(1) Kishangarh sub-style

(2) Alwar sub-style

(3) Nathdwara sub-style

(4) Devgarh sub- style

) Question not attempted

- Match the following and select the correct
answer from the code given‘below -

(Writer) (Writing)
(A) Kanha Vygst (1) Dwardeepika

(B).Natha (it) Eklinga Mahatmya
(C) Govind (iii) Kirtistambh Prashasti
(D) Atri and Mahesh (iv) Vastumanjari

Code - )

(1) .A-(@1), B-(ii), C-(iii), D-(iv)

(2) A-(ii), B-(iii), C-(iv), D-(i)

(3) A-(iii), B-(iv), C-(ii), D-(i)

(4) A-(ii), B-(iv), C-(i), D-(iii)

(5) Question not attempted

1. fefafeaa ¥ 9 50 o7 9 /IR @ I8

H we<aqul YfHeT P
(1) st o s g
(2) wEReT Sradq g
(3) HERT Heor g
-(4) AERIOT NS g .
(ﬂmﬁﬁm

A A A PGS ﬁ?rﬁrﬁm‘cfmﬁ?

(1)3§ﬁwwmﬁs‘m$é’rmwwﬁs‘iﬁ

(ii)sﬂff.%'éﬁuﬁ" IR TERT P UHE YR
(111)Wmﬂw§%mawwﬁéﬁ§3ﬁ?

T 91T I TR o o § |
(1v)sﬂ§;maﬁ%é‘a'l‘mwsﬁwaaﬁ@m
|
TEI SR P IIT PIOY —
(1) Gi), i) AR Gv) @) @) iR ()
@) G), Gy iR Gi) (@) i) 3R (i)
(5) argaia 9w
- TrefeRae % 9 wiwar oq 9 93 8 A7
(1) 5g7 " (2) sifar
(3) o= (48) o=
(5) JFEIRT W ‘
ICECTEE 14
(1) fparre Suieil
(2) srefa” SUReR
(3) TRIGRT SuRlel
(4) ST Sl
(5) iR 99,
5. ﬁw%@aﬁgﬁﬁaaﬂmaﬂwﬂﬁﬁﬁ@
HE ¥ W W8 TR BT T PG — .
(erer) (erer)
(A) BT = OFRCUEED
(B)' =TTl (ii) TepfelT AEw™
(C) M= (iii) PifcTec TR
D)3 @ W (iv) TGS
ar‘,'a._

(1) A-(1) B-(ii), C-(iii), D-(iv)
(2} A-Gi), B-(iii), C-(iv), D-(i)
(3) A-(iii), B-(iv), C-(ii), D-(i)
(4) A-(ii), B-(iv), C-(i), D-(iii)

(5) SrgailNG 9
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6. Who was the President of the first session of 6 SHUR USIMvSH & Wo I © el B
Jaipur Prajamandal? o7
(1) Jamnalal Bajaj (1) SIS ST
(2) Heera Lal Shastri (2) ERTerTer I
(3) Karpoor Chand Patni . . @) TR 7= T
.(4) Chiranji Lal Mishra @) BR<Y Trer e
(5) Question not attempted (5) srgea e
7. Dayabai and Sahjobai wére disciples of which  7- SUNTS 3R UEGIRE <oRYN E% e dg o
saint of Rajasthan? fRorsarg off? .
(1) Saint Haridas (2) Saint Laldas (1) 5§ =R (2) Hg e
(3) Saint Jasnath (4) Saint Charandas (3) T STETA @) ¥ TNUETg
(5) Question not attempted (5) SR T
8. Who was the President of the open session of 8. 8 ®mYaNl, 1942 3. B I RS AIb
‘Marwar Lok Parishad’ held on 8" February, uRye & Tl ARYTT D ngE P A?
1942 AD? (1) @ 39 T
(1) Swami Chain Das
) (2) 17 IRIY AT
(2) Jai Narayan Vyas
(3) AR TARM
(3) Chaudhary Umaram
(4) Ranchhod Das Gattani (4) JOTBTS IRY Tl
(5) Question not attempted (8) ergaRa e
9. Select the comect statements about Sringar 9 SFIR Fa¥ iR & Rvy § ¥ werl &1 759
‘Chanwari Temple - PBITY —
(i) Its central part is covered with a circular Jain () SEHT T 9ET MelTbR W+ TS I THI
dome. 2l
(ii) It was built by Bhandari Velaka/Veka, son (i) 39T fmier Far & Biueger @ 3 SR
of Kumbha' s treasurer. 1Bl /BT ff ?IWEITQT o | :
(iii} The plan of this temple is circular. (ifi) 59 HieY & T MeeR 2
(iv) It has four wings protruding from all four (iv) 599 TR} iR ¥ ¥R T BEe @ #|
sides. s
Select the correct answer - 2? G?la'\fﬁ;ﬁr y T e i
() (i) and (i) (@) (), (i) and (i) Y AR aD 1 OG0 S 6D
@) (), i) and (v) (@) (D), (iii) and Giv) @ @), @R Gv) @ @), i) I (i)
(5) Question not attempted (5) argeiRa R
10. Who among the following was the Chairman of  10- fFrafiRag & & @19 1944 § wormr
“Meena Sudhar Samiti” (Meena Reform e ST QUR AR T s or?
Committee) established in Neemkathana in
(1) oI HAR
19447 . 3
(1) Rajendra Kumar E (2) gefeR o
(2) Banshidhar Sharma (3) FErRg I USs
(3) Mahadev Ram Pabadi '
(4) BIcae EECIE
{4) Chhotulal Jharwal ) BIg
{5) Question not attempted (5) srgaRa we
00 - Page 3 of 32 )




11. ‘Which of the following statements are true?

12.

13.

(i) Rangmahal was excavated jointly by
V.N. Mishra
Archaeology Department in 1959 AD.

(ii) Rangmahal is a Pre-Harappan *

and Rajasthan . State

archaeological site in Northern Rajasthan.

(iii) Rangmahal was excavated by Swedish

~ Archaeologist Hanna Rydh in 1952-53 AD.
(iv) Rangmahal culture is of Kushan period.
Select the correct answer -
(1)-(ii) and (iii) (2} (iii) and (iv)
(3) (@) and (iv) (4) @) and (ii)
(3) Question not attempteéi
Where is the painting “Krishna with eight
Gopies depicted as an elephant” found in
Shekhawati?

(1) Kanodia Haveli, Mukundgarh

(2) Goenka Haveli, Fatehpur
(3) Ruia Haveli, Ramgarh

(4) Poddar Haveli, Nawalgarh
(5) Question not attempted

s

Match the following and select the correct

answer from the code given below -

(Authors) (Books)
(A) Jayanakabhatta (i) Prabandhakosha
(B) Nayachandra (ii)) Hammiramahakavya
(CyRajashekhara (i) Prithvirajavijaya

(D) Chandrashekhara (iv) Surjancharit
Code - .

(1) A-(ii), B-(iv), C-(iii), D-(i)

(2) A-(iii), B-(ii), C-(@), D-(v).

'(3) A-(i), B-(iii), C-(ii), D-(iv)

{4) A-(iv), B-(i), C-(iii), D-(ii)
(5) Question not attempted

11.

12,

fr=ifed § & BIT9. FUF T 87

(i) TS BT SoE@TA ALeH. s U9 eI
IS QRIGT [T W HgaT B ¥ 1959 €.
# foam oy -

(i) ST WO # e WR-gs Tl A
R ¥ '

(ii) FHIES BT ST WiST & YRIGa §+11
TS W 1952-53 3. H fooam o)

(iv) TES GNPl BEIT Bleld T |

(1) (i) 3R (iii) (2) (iif) 3R (iv)

@) () R Gv) @) (i) 30 (i)

(5) srgaila w=

i) F “HOT P 37 N UF TR B HU

¥ R fRifRe o fHar 27

(i)-aa—rfr%m &dell, 9SS

(2) 7T TN, AT

(3) $=a1 Bdoll, WG

(@) URR g3l TEaerg -
w1 (5) srgaRa ot
. frafofan @1 QR AT o S R

$e 4 W E TR BT TWE BIAg —
(o) @)

(A) SIOFHHE (i) VEETPTe

(B) THE= (ii) sieAETeTE

(C) ISIRIER (iii) QRIS

(D) T=IER (iv) GReraRa

e —

(1) A-GGi), B-(iv), C-(iii), D-()
@) A(iii), B-Gii), C-(i), D-(iv)
(@) A-(3), B(iii), C-(ii), D-(iv)
(4) A-(iv), B-(i), C-(iii), D-Gii)

(5) IrgiRa we

00 - &,
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14.

Which statements are frue about the Bijolia
Movement?

@ In 1903, Rao Krishna Singh imiposed

Chanwari tax in the Bijolia area.

(ii) Prithvi Singh put the burden of the amount
taken by Mewar as ‘Talwar Bandhai* from
new Jagirdar on the stbject.

(iii) In protest, the farmers did not plough in the
entire Jagir.

14.

/’

?ﬁhﬁmaﬁaﬁtﬁﬁmﬁaﬁﬂﬁmmw.-

?

() 1903 % ¥ <@ w1 Rig = Reifer &3 3
AT HY T |

i) godt Rig 3 Yore R T STiRER ¥
TR S, B WY ¥ Wl T8 W9 3T AR
ST R ST |

(i) TR w@wy fHam 3 9 WFiR 3 859

(iv) Prithvi Singh understood the mistake and . . £ .
announced some. concessions to Tarmers. @) M e # TeRR Bl A diR k2l
Sélect the correct answér - T Remeret & @t = |
(1) (i), (i) and Giv) (@) (), (iii) and (iv) e SR BT 7T BT —
@ i, i and G AP ) Gi), Gi) AR Gv) (@) ), (i) 3R (iv)
i), (ii) and (iii) (4) (i) and (i) NG ) -
5) . (3) (i), (ii) 3f¥R (iii) @ (i) 3= i)
Question not attempted
(8) FreIRa we
15. From where was the Lingodbhav idol, displayed ~ 15- 3R dysrea o walia fefiigwa ARk @&l 9
in Ajmer Museum obtained? T g8 87
(1) Osiyan (2) Buchkala 1) anfREt (2) gapen
(3) Abhaneri (4) Harshnath (3) Y=Y @ =d91y
(5) Question not attempted (5) argaiRa we
16. As per Census 2011, how many cities/urban  16. S=RIVFT 2011 & NN, ORI ¥ 5 &/ @ q
agglomeration have tlie population more than AP STEET I e,/ TR, Hepar T
5 lakh in Rajasthan? oy?
6 (2 4 (1) 6 @ 4
@33 @ s (3) 3 @5
(3) Question not attempted . (5) IgaRd ue
17. According to the Census 2011, the literacy rate ~ 17- 2011 & ST & IR, oI ¥ 15-24
«of youth in Rajasthan in the age group of 15-24 9§D ag T B gael @Y weRa <X & -
years is - 1 ,
(1) 96.54 (2) 81.73 23; 32'22' g; 2;;3
(3) 79.46 (4) 88.89 5 ) '
(8) Question not attempted , (5) orgiRa we
18. ‘Which among the following (Solar Power Plant  18. o & & o (@R oot Ga=—fren)
— District) is not correctly matched? w8 gt =8 87
(1) Dhuni — Sikar (2) Agoria — Barmer (1) =7 — iR (2) FRAT — TSR
(3) Gorir — Jhunjhunu (4} Mokala — Jaisalmer (3) TR — ST 14) wieperr — -.}]q:[aﬁq
{5) Question not attempted (5) araRa weA
18. Which of the following statement about the Luni 19 T[T <1<t & fawy  fFe=iforiRaa 4 9 ﬁﬁ"ﬁT BT
river is false? ey 87
(1) Its water is sweet from its ongm,to Balotra (1) %GQ‘IH J TN B GF FGBT UHT dieT
town. g I
(2) The eastern boundary of Luni river basin i3 el @ Ffﬂ w41 IR o g& A BIe T QR
‘Kala Bhura Dungar’. .
(3) It flows over 5.6 percent of the total drainage &) ?E;' TR & §d Iais 89 & 5.6 uferd
area of Rajasthan. 9T O yafRd B |
(4) This river flows upto Rann of Kutch. (4) 78 9< B B 0 qD uErrI%?r Bl B
(5) Question not attempted (8) sraRa w1
00 - Page 5 of 32




20. As per Census 2011, which district of Rajasthan
has sex-ratio less than 800 in urban areas?

(1) Jaisalmer (2) Ganganagar

55

20.

STOFT 2011 & ER, IO 3 TR 85
4 8009 Bw feigura @™ arenm fOrem Bl
&

(1) TR

(2) TR
(3) Barmer (4) Alwar @) e P
(8) Question not attempted. (5) aﬁ?‘lﬁﬂ o 3'
21. Read the following facts carefully about an 21 YO & T& HN-—earg WoW P W= § ;
Agro-climatic Region of Rajasthan - Frafaiiae qeat @ qdP ufed — (1
(A) The average rainfall of the region is 30 to (A) 59 <9 91 3\ a9t 309 50 9. T i
50 cm. (B) S¥ uow 9 @1e Nailell qe WRIOW HeT g
(B) Red desert and Sierozem soil are found in Wy &
this region. % P U
©) that,g lf\/ItE?tard and Sesame are major Rabi © Eﬂﬁﬂqg o foer <9 e < v A
crops of this region. TEERR
Identifypthe Agro-clgimat'ic,Region - ?ﬁ; B g R @ 1. C_
L u-B 1-C @1 - A @1-A
@ Im-A @1u-A (5) S
(5) Question not attempted ERL ‘
22. Which of the following Agio Food Park is not 22 Fr=ifeiRed & & S19e1 T s 9%, P! N
developed by RIICO? - . fafa 8 foar T 87
(1) Udyog Vihar, Sriganganagar (1) =T 38R, SFTTFR
(2) Boranada, Jodhpur (2) SRS, SeTgR
(3) Ranpur, Kota (3) YOI, BT
(4) Kishangarh, Ajmer (4) frerrTe, aoRR
(5) Question not attempted (5) aﬁﬁﬁﬁ T
23. Which of the following soils has been 23 <orRenT ¥ f=fofed § & B Ha1 T9ww
ge\.relctgxedr{formed from the Deccan trap in U 9 fowRe /i E—g 27
ajasthan?
(1) Brown (2) Grey Brown - 8 ;ﬁ% N 2:; ﬁ S
{3) Red Loam (4) Black
{5) Question not attempted (5} sTTART 77 '
24. Which of the following is not matched correctly? ~ 24 fwiferRas # & s Gafer =& 27
(1) Luni Basin — Nehad (1) o SR — e
(2) Nagaur Highlands — Dora Parvat (@) TR S AT — R udd
(3) Shekhawati Region — Johad (3) ITEET WS — AT
(4) Ghagghar Plains — Nali (4) R e — A
(5) Question not attempted (5) sl wes - ;
25. As per Indian State of Forest Report - 2021, the  25. 9Rq g+ Ry Rud—2021 & IR, ST '
forest cover in Rajasthan was - : # YEIGROT o — E!
(1) 14655 sq.km approximately (1) 146557 f5A, T 5
(2) 16655 sq.km approximately : (2) 16655 & fFA. TFET |
(3) 19655 sq.km approximately 3) 19655 =5 F5f. o '
(4) 18655 sq.km approximately @) 18655 9 R5.T. orreT
(5) Question not attempted , (5) e v
00 - Page 6 of 32 %
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26. Which of the following are environmental

L

SRS TS ks

———

27.

28,

29,

30.

31.

effects of unsustainable mining in Rajasthan? T UG TEE B 87
(A) Air pollution (A) TI1g 9gyYr

(B) Loss of biodiversity (B) Sig—fafderan &1 &9

(C) Land degradation (C) ¥ &ror

(D) Surface and ground water pollution,
Code -

(D) I8! oAl Y—STal FgueT
1

m —
(M A,B,C,D (2 A, B, C (1) A,B,C,D (2 A,B,C
3)B,C,D (4) Only B and C (3) B,C,D (4).%aa B 1 C
) Question not attempted (5) Gilﬂﬁﬁﬂ PESH '

The unemployment -allowance given in
Mukhyamantri Yuva Sambal Yojana 2024 in
Rajasthan to male and female respectively is -

27. JoeyE # G gaT 9Re Ao 2024 $

Wwww@wéﬁwﬁwm

(1) 4000 and 4500 per month (1) 4000 3R 4500 GRFTE

(2) 4000 and 4500 per year Y (2) 4000 3R 4500 HfEy

(3) 4500 and 5000 per year (3) 4500 3R 5000 Hitray ,
{4) 4500 and 5000 per month (4) 4500 3fR 5000 ufrFTE

(5) Question not attempted (5) Hﬂﬂﬁﬁ RS

Initially the funding ratio of Desért Prohe Area
Programme (DPAP) between the Govt. of India

- Y@ ¥ & SREpA (SLAg) A ajﬁm

WW?@TWWﬁ

and Govt.-of Rajasthan respectively was - IO HE: oF —

(1) 75:25 (1) 75:25

(2) 100% by Govt. of India (2) =1 wfded R IRPR G
(3) 50:50 (3) 50:50

(4) 25:75 N {4) 25:75

(5) Question not attempted (5) arpaIiRa e

Which among the fx:)llowing factors affects
localization of Sugar Industry in Rajasthan?
(A) Auvailability of sugarcanes .in the nearby

Recently in which district of Rajasthan, Bauxite,

20, yrorerE # AN SN B RGN Bl hITd

(A) e @ U B &= § T B SuASal

areas of mills (B) IRas &7 3 CIRSEREER)
(C) Availability of Lime and Sulphar (D) | TG W 811? :
(D) Cheap and skilled labour T —
Code -
1 (2
(1) B, C and D @ A,B;CandD () B, C sl D ) A,B, CSIRD
) (3) g AIRD 4 A,B3IR C
(3) Only A and D 4 A,BandC ®)
(5) Question not attempted TN 0

-Gﬁvﬂaﬂé g1 8 & A, mﬁa‘)ﬁo—aﬁlﬁ

occurrences have been reported by GSI? ¥ s @ wmifts Ruid & 1€ 87
(1) Kota (2) Udaipur (1) aﬁa (2) SgagR
(3) Banswara {4) Jhalawar Ak (3) SraareT @) TraETs
(5) Question not attempted (5) srgaRa e

Which of the following are the names of the ‘AT’
(Artificial Intelligence) Anchors launched by

- T8, 2024 9 ‘SIS [HEE amml-c{ﬁv‘q

T TR @R sefierd) ted

‘Doordarshan Kisan Channel’ in May, 20247 1 Frefafea & § S99 87

(1) Rani and Krishi (2) Bhoomika and Raja (1) <+ v By (2) AT Td

(3) Krish and Bhoomi (4) Farmer and Nandini @) 7 T3 g (4) PR T TR
(5) Question not attempted (5) e we ‘

00-E

- Page 7.of 32




32,

Consider. the following statements about

« Amnesty Scheme 2024 introduced by the

Finance Department of Rajasthan —

(i) It addresses outstanding tax demands and
disputed amounts.

(i) It aims to provide subsidies to small
entrepreneurs.

Select the correct option among the following -

(1) Only statement (ii) is true.

(2) Both statements (i) and (ii) are true,

(3) Only statement (i) is true.

(4) Both statements (i) and. (ii) are false.

(5) Question not attempted

32..

SIRRI & fIRT 9T 5191 g @1 18 ARl

@ 2024 D I8 ¥ =R soHl ® AR

@) Wmmwﬁaﬁ?ﬁmﬁﬁmﬁzﬁr
TR el ©

ﬁ(u)gﬂﬂﬂ;ﬁ@ﬂgwﬁﬁaﬁaﬁzﬁm

Frifafea § 3 98 R &1 799 difvg —
(1) g FF (i) T T

(2) SFF BF (1) U9 (1i) I T

(3) DI FIT () TT B |

“(8) QN1 HUF (1) Td (i) ITT & |

(5)31'-;1,?1'@?{9'2:[

33. Who amongst the following has been appointed 33 /TSI cmm\r! TP Al (R9-3%) B
as the Convenor of the High Level Committee afcTa Harera 303 WETdene™l & e &g
constituted to review 303 colleges operating ST ST WG 9T &7 GI9E NEforad
under Rajasthan College Education Society ¥ By ﬁ'ﬂiﬁ fbar T 27
{Raj-CES)? (1) T BRI T
(1) Professor Shobha Ram Sharma ,

(2) Professor Manoj Dixit (2) der T e

(3) Professor B.L. Choudhary (3) MpER N.ua. AR -
(4) Professor Kailash Chand Sodani (4) TR D T 9IEFT

(5) Question not attempted (5) srgeRE W

34. Who among the following is the winner of the 34 F=ifsg ¥ ¥ “Ra ¥ “eeiv TRRA<A
‘Goldman Environmental Prize-2024° from MS9—2024" T fooiar o 87
I;n)dia-? o oo _ (1) 5= Hgan (2) o Rig
(1) Mahesh _Mehfa ( )‘Rajenclllra Singh (3) sl v (@) 3T TR
(3) Alok Shukla (4) Medha Patkar 5) )

(5) Question not attempted 3 e

35. Which rank is globally secured by NTPC at the  35- /3, 2024 # TS (HiRwe ®R <o
ATD (Association for Talent Development) Best ITETHE) T S GIKT Juag ¥ w a9
Awards, USA in May, 2024? IRer wR T P ©IF TR Ay 87
(1) Third (2) Fourth (1) gl (2) urget
(3) Second (4) First ' (3) g (4) gy
(5) Question not attempted (5) sraRa. we )

36. Who among the following is not a member of the ~ 36- Yoeg {4, WA &1 BRI & R
Cabinet Sub-Committee constituted to review T 17 et QT'-T o9 TR P Wﬂﬂﬁ?ﬁ
the administrative requirement of newly formed dEHal P HeT W HHET B  Wod
17 districts and three divisions by the Amveciiy ST &1 FEiea § ¥
notification of the Revenue Department, oy T8 27
Rajasthan? 1 ‘\??T R <aa
(1} Suresh Singh Rawat @) S5 Hon
(2) Hemant Meena

3) SR U<l
(3) Jogaram Patel o i v
(4) Rajyavardhan Singh Rathore * 5) : ‘
(5) Question not attempted (8) g s
00 - Page 8 of 32
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S TSR T

37.

38.

39.

40.

4.

According to ‘SIPRI Report 2024 on Global
Military Spending’, India was at which place in
20237

(1) Fifth (2) Third

(3) Sixth (4} Fourth

(5) Question not attempted

AN
In which of the following month State Water
Resources Information System Dashboard has
been launched in Rajasthan to make better water

management?
(1) May, 2024 (2) March, 2024
{3) February, 2024 (4) April, 2024

(5) Question not attempted
According to modified budget 2024-25 of

Rajasthan, the Provision of amount made for

‘Dr. Shyama Prasad Mukherjee Jila Utthan
Yojna’ is - '

(1) 100 crore (2) ¥ 500 crore

(3) 700 crore (4) T 300 crore

(5) Question not attempted

‘Who among the following is the Director of the
film ‘Sunflowers were the First Ones to Know’
which has won the ‘La Cinef Award’ at the 77%
Cannes Film Festival?

(1) Santosh Sivan (2) Maisam Ali

(3) Chidananda Naik  (4) Payal Kapadia

(5) Question not attempted

From the following ANOVA table of a Latin
square design, the sum of square due to columns
is -

Source of Sum of | Degrees of | Mean sum
variation squares freedom of square
Columns | - | 5 | .-
Rows 4.20 - LT
Treatments | - _ | _ - | 243
Errors’ - - 0.65
Total 39.65 - -
(1) 10.30 (2 12.15
(3 8.20 ) 5.95

{5) Question not attempted

37.

38.

39.

40.

41.

L
pe

‘Mes T9 @ W THAR.GaRaE. ()
R 2024’ B AR, 2023 % TR PR ©IF
Y o7 -

(1) giTd (2) q=R
©) T3 4 e
(8) argaIRa WA

JER O TEEH B foy Yo § WS oid
TARF Il Yolell SvErS 59 AE H uRE
fpar T 87

(1) 55, 2024 (2) 9, 2024
(3) BRaExl, 2024 (4) arliet, 2024
(5) Ag<IRT U9

IRIE & GRARG goic 2024-25 & SRR,
Sl WA YER qEel T S ey
2 faaeil SFRIRT &1 e e <1 87

(1Y 100538 % (@ 500 538 %

(3) 700 TS ¥ @) 30058 T

(5) smiRa ueA

fFrfafaa 4 9 o9 e W oaEd | &
T 99 T A @ e § o 774 srd
fren weicag # ‘a1 Rew (ReR’ ST 87

(1) "y Ra (2) =79 3l

(3) Prere B IEE (8) Ut wuTtSar

(5) 3rgeIiRe weA

f=faRaa ANOVA arfersr § Ts dfes o

AN HTT D Bict@l ® a1 T AN & —
I i WHEA | WEA oife | TS I oA
] Z AR
TR 40 - -
TN - - 243
i - e 065
i 39,65 - -

(1) 10:30 (2 12.15

(3) 8.20 (4) 5.95

(5) sk U

00 - =
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43 1et X1, Xo,

-~

42. 1f a cluster sampling with N clusters, each of size

M and the size of the sample n is considered;
then its efficiency with respect. to Simple
Random. Sampling Without Replacement
Scherne with sample size nM is given by -

Where, S? denotes the population mean square
and S denotes the mean square between cluster

+ +'mean in the population.

(1) _s? (2) 52— 52
(Msf) '
(3) MS? —s2 4 _sg
(Ms2)

{5) Question not attempted

Xn be (N>p)
observations from Normal Distribution N(j1, Z)
where X is matrix of p. p is different
characteristic Toots, a set of MLE of A1, As,

.......................... , Apand D, B, .,
B® are roots Ki > Kz >...pveverereenen> Kp i
‘obtained from.

)|z —KIi] =0 @ E-x1]=0

@) |Z—KI| =0 @ |z-KII'| =0

{5) Question not attempted

44. 1 et X;, Xo be two independent Poisson variates

with- parameters A; and A; respectively, then the
conditional distribution of X; will be, when
(X1 + X>) has already decreased -

(1) Geometric distribution

(2) Binomial distribution

(3) Poisson distribution

(4) Negative binomial distribution

(5) Question not attempted

45. Which multivariate distribution is used for

comparing the mean vectors of two populations
when common variance—covariance matrix X is
same?
(1) Hotelling T? Distribution
(2) Wishart Distribution
(3) Mahalanobis D?
" (4) Multivariate Normal Distribution
(5) Question not attempted

4. If X is a normally distributed random variable-

with & = 1 and ¢? = 2, then the asymptotic
distribution of sample median forn =20 is -

N1 @3
ONwE)  Ox

(®) Question not attempted

42.

43.

44,

45.

46.

d n UfEE BT AHR B, A THOI TEWT W
Tfige ST BN oM 8, B aer SRl —

g, SPUrEl WEiE @ ArY O Pl qel S
e % Teo ARl @ 9" W o b i

2] -
(1) _s? (@) 52 — 52 -
(Msg) i

(3) MS? — §2 4 st

(MS2)
(8) argiRa wed
A TG X1, X2, coeverrensereenee , Xn (N>p) St
AT g2+ N(, 2) 9 8, 981 Z, p BT Afgad
21 p A= T S §, M, Az, rereeeeereeeseese s esee ,
Ao T BD, BP, o , B® & MLE %98,
B K1> K2 S >K, & ura
SIT Al B
MEZ'-Kl=0 @[E-KI|=0
3) [E—KI| = 0 @ |5 —KI'| = 0
(5) srgmiRa weA
A TR A, ST WIS & AR Xy gl X, 8 aa=
X1+ X2) TSl B °C &1 § —
(1) OIRR Fe
(2) fguq de-
(3) WRIEl geq
(4) R fgug de- ,
(5) SIRT U=

Ed
BT 9gTR g Ugw BN Si|fh |l
TR0 EERYT Ao S 99N 27
(1) gefeivT T2¥cH
(2) e des
(3) nEieFiw D
(4) gg=R I e
(5) srgaRa weA
p=1 M ¢*=2 & 9 IR X & aHY
§ieq AgRed @R &, & n=20 & fou uiyedd

3 WY WY ARE 9 ger e @ o
fer G2l

AifegeT @1 smaElt e BIT?
M) BN
Onim  One
(5} IR W

00 - [l

r
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47. Suppose X and Y are zero-mean jointly normally

47. g 6 X O Y Y AR 9 9

distributed random variables such that
17
ok=40f== and BX, Y) = 2 ok =40f=" @ EX Y) = 281 aﬁ
If (Z = 2X — 3Y), then what is the probab111ty (Z=2X-3Y)®, a Z & ol T Bed
density function of Z? FT BRIT? .
M2 =2 @ 1 = (M) 5, = @ 4 -2 ‘
Vem® vem© = CTmE T e
@ 1 = @ 1 -2 @ 4 =2 @ 5 -
Jiem© NTr VT Tz
(8) Question not attempted (5) srpaRa we
48. For a symmetric distribution - 48. yufaa dea o forg —
M p>0 ) p,3>0 Mp>0 (2 ;>0
(3) l,l,3 =0 (4) p,z = (3) M3= 0 (4) M2 = 0 B
(5) Question not attempted (5) FrgRIRe U _

49. Let xi, X2,..eee.y Xn be @ random sample from 49 W ST x4, X2,ennev.., Xa B grgRes gy
N@®, 6%, o is known, to obtain confidence .- N(8,c2) @ &, WafF o 919 &, o Fr=ifofag
interval of 0. we can use-which of the following 4. oiFar 990 75 & B9 H 0 &1 fawawsiaan
as Pivot expression? RN g9 & o) o9 § foram wmar 87
1 (x —9) 2 (%-0) ; T %

M p=1E2 @ n=1&2 M =& @ —1&2

3) (x—e) @ &9 (3) /= x=6) 4) = &9
e o= Vo= V=

(5) Questlon not attempted () srgafa wee
50. A test of a null hypothesis against an Alternative 50 U@ I RGBT B dpicuds TR B
hypothesis, is said to be unbiased if - foog whew 4 39 SFRFT B9 HEl SR?
(1) Power of test > & (1) oleqor 1 ofdd > o
(2) If probability that statistic will fall in critical 2 7fe g & ®ifvs a3 § i &
region is o (0. = size of I kind error of TAEET o B {00 = WIS @ 99T HHR
probability) @1 Fe BT AR )

(3) Power of test < o (3) gieror @ IR < o

(4) Power of test = o (4) TEToT B AR = a

(8) Question not.attempted N (5) SRR e

51. At the centre; multipurpose socio-echptmgic  51- v ¥, Tg—vgiUi WHIRTG—aRE GIewil
surveys are mainly conducted by - L BT IR P &I ©F ¥ §IBT I ® —
(1) National Informatics Centre () M I dw
(2) NSSO (2) NSSO

' (3) Indian Statistical Institute (3) 9™ '\qm eI
@ Cso (4) CSO |
(5) Question not attempted (8) sl T
52. Sum of absolute deviation about median is - 52. miftgepr & wNer fAuel fagem @1 A 2
(1) infinite (2) zero %. -
(1) s=q ) T
3 4). ' o .
(3) least (4). greatest @) @ afe
(5) Question not attempted (8) sraRa v
00 - Page 11 0f 32




. 53,

The consumer price index for April, 1985 was
125. The food index was 120 and 135 for other
items. The percentage of total weight given to
food is -

53.

Si¥e, 1985 H SUHEAT I YADIS 125 o}
A BT GGG 120 &1 TAT IR TR B
forg 135 o1 | Wio W @ & o el AR &
fererT & —

(1) 68% @) 63.5% (1) 68% (2) 63.5%
(3) 66.67% ] 4) 67.25% (3) 66.67% 4 67.25%
(5) Question not attempted (5) srpeRa v .
54. Which distribution is used to test equality among 54 =Y ¥ 311w T= TR IRNO-EUER Al
more than two independent -population’s & 7 P GAAGT B W o fod i d 9
variance-covariance matrices? PIFET 99 WIH ENTT?
(1) Hotelling T2 Distribution (1) BT T?deq
(2) Multivariate Normal Distribution 2 95N UEHY d9eq
(4) Wishart Distribution (.;) e g
(5) Question not attempted (5) ariRe e
- 55 The mode of F(v, V») distribution is - 55. F(v1, v2) ¥ &1 35 3§ —
(1) vi—2
M v—z,).(vrz)'v > 2 (v2+2) ( )' 1>2
v +2/ '\ vy J0TR (2) v2+1) (v3-2) z)
(2) (va+1) (v1~2) vy > 2 (Vz+2) Vi V1 >2 : !
(v2+2) v ' 3 C 1
@y oxn g @, (X‘ii}vl>1
Vi ) (Vé_ 1),, (4) V2 (‘V1 2)
D g e > 2 T R
2 1 » 5
(5) Question not attempted '% (6) srgeiivg Lol
56. T Y denotes total production of selected crops ink#z29- afE Y usie E}BTCEF{ ¥ wafia wae E%
Ut area, SEG) ?5\f ﬁf"ﬁﬂ\"f ARy %
Yn denotes total production of same related Yn VSR WY W S § W B & B
crops at National level, . gav EI? EEI i ﬂSEEiH ? NN
T denotes total crop_ped area of the unit, %‘ Bl Pl
Tn denotes total cropped area at National scale, Tn W TR R Gl BEe Sl B R
then National Agricultural Productivity Index el % ar sy Tﬁ SIS GBI (PI) o
(P1) is given by - ' SaT g —
MPI=YYn-TIn (2 PI=TYn+YTn (MPI=YYn+TTn @ PI=TYn+YTn
B)PI=YTn=YnT @ PI=TTn/YYn @) PI=YTn+¥YnT (@) PI=TTn/YYn
{5) Question not attempted (5) rgaRa weA
57. Stratified Random Sampling is recommended to 57 wiRa Irgfes ufvmgs A o1 swam a9
use when strata are - ST BT & SHEh WK —
(1) Hetrogeneous between them (1) var Ry 8
{2) Within as well.as bétween homogeneous 2) R © T NER G 8
(3) Within homogeneous- @) = § T &
(4) Within homogeneons and -between them A 3 R M7
hf:teroge:neousg “) N CRIT AR &
{5) Question not attempted (8) srgeie e
00 - . Page120f32
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58. The coefficient of correlation between X and Y 58 X § Y & &7 Os9aY TUN& 0.6 8| ST@I
is 0.6. Their covariance is 4.8. The-variance of e 48 B X FI UENUT 9 2, T 9 Y ol
Xis 9, then- S.D. of Y is'- . 9% A9e= g9 —

(1) 26 (2) o8 (1) 06 (2) 06
9x48 3x4.8 oxaB Py
(3) 28 _ (4) 48 (3) 48 (8) 48
9%0.6 3%0.6 " 9x0.6 3x0.6
(5) Question not attempted (8) srpaRa W

59. .For a population of size N and of sample sizen, 59 N GR @Y UF G 9 n PR & ufies &
under Simple Randorm Sampling without forg, wver arqies wiiesl wimE fafr &=
replacement, the unbiased estimator of UReUsT % dddd Al ?fFT
population total T(= >N yi) is - 'T(— N, yi) BT ST AMBHAD & —
where, 7 denotes the sample mean. STEl, ¥ AfIeRt " B g 2|
(1) Ny (2 ny (1) Ny (2) ny

N
3, _ ) @y = Ny 3= i) @ = Iy
t= . (N_ln)i t ny t (N-n) ‘ n
{8) Question not attempted (5) SrgaIRg e

60. A npull hypothesis is defined as. - 60. 7 REeuT S gRWIRT fhar wan & —

(1) Hypothesis under test (1) Tderor & 5 trﬁm:rr .
: o (2) gRepea Tgor G guifdd PR
(2) Hypothesis tested for possible acceptance & .
{3) A negative hypothesis . (3) o GREETET \
() 1t is negative hypothesis under test for @) v IRFEET WY 5 RoTE & &R 9
possible rejection oregor 3 ﬂgﬁﬁ RPN B B 1%1?} LR
. - foear ST :
- (5) Question not attempted
#Q P (8) arriRa 9

61. The class interval of the continuous grouped data - 61- ¥ AR Aipsi B oy oo et BT —

will be - 10-19

10-19 20-29

30-39 40-49

40 - 49 -

50 - 59 30-59 \
M9 @ 145 9 @ 145
3) 10 @) 45 3 10 @ 45
(5) Question not attempted (8) srgafea w=a |

62. For a-random sample of size n it SRSWR, the  62. SRSWR #, U& n¥10 & IgRod Uiagel | W

statistic s? = ﬁZ}Ll(xi —%)?is- EHIEEIEliI - )
B 2 _— yn —X) B~
(1) Biased and consistent estimator of ¢ .(51) o-zn_l iz (i _ X) 3
I (2) Unbiased and consistent estimator of o2 A% P51 e o T 3T
A ] . . , B A= (2) 62 P71 AT T I ANBHAD
. (3) Biased and inconsistent estimator of G : . L
@) Unbs 1 i ] ¢ o2 @) o1 A= UG SR MPeld
s . Unb1a'sed and inconsistent estimator o () 21 sRF T ord
(5} Question not attempted (5) s o
00 - Page 13 of 32




|
|
@l sPIsEl) Saned J‘

63. A machine produces 10% defective items. 10  63. g 9309 10% @<" '
items are selected at random. Find the B 21 10 Sﬂﬂsﬂ\f Pl AGREP &I A ﬂ'&ﬁﬁ |
probability of not more than two items being far | &1 ¥ T <gel gegar |1 :
ae)fective. , @ s ST B 99, e Miear garsd |

RAYE 2Y (% (1) f9 [24)° (2) 9\ (24 !
(10) ( 9 ) (10) ( 9 ) (1_0) (?) (ﬁ (?)‘
@) (1)10 (E) ) ( ) (_ 10 (@) 910 r24 (@) (9 f24\10 '
w) 5 ) s (m) (%) &G
(8) Question not attempted ST e o

64. A continuous random variable X has a pdf &4 Qiﬁ'ﬁaa trrcgl%mﬁ TR X ol iRdiehdl Oelcd Beid
f(x) = 3x% 0 < x < 1, then find a and b such fx) =3x4, 0<x < <1% d9a AT b S
‘that - Hifoe —

() P(X <a) = P(X > a) (i) P(X <) = P(X > 2)
(i) PX>b)=0.05 (i) P(X >b)=0.05
(1) 1l @ 2 1 1) (@ .2 1
3 1\3 1\3 19\3 19\ _3_._ 3 _3_._ 3 1_9 3

() and () () and (53) o (2029 e (2)1 “ G een () é
@) N @ i 1\ 1\z0 1)z 1)z 1\z0

G ana @ GFama () MO ORI
(5) Question not attempted ' (5) srgeiRa e . |

65. Correlogram is an important tool which 65 PIRARNM TF FEwayel IUFROT (ARF) B, j
provides - TAT T —

(1) Seasonal variations of time series (1) oI 3o & 399 Seaes ﬂ
(2) Measurement of cyclic variations  {(2) 9T Sl BT A " |
. (3) Nature of the internal structure of time series Fi=l% 3) 1 9ol B RSP GTT B ;@ﬁ:ﬁ
(4) The moving average of random elements | J—
. g g @) i el @1 9 AR
(5) Question not attempted 6) sieRa W
6. The equation of the parabolic trend is - 86. g yRgerll SUAIT BT THIBRT & —
Y=466+24X-13X%> Y=466+24X-13X?
If the origin is shifted backward by three years, I &= BT dF 99 9D o Rive B [ |
the equation of the parabolic trend will be - SR, < URGIRID SUfT Bl GHIDI0 BT — |
MY=511-54X-13X%2 MNHY=511-54X-13X> ~ f
(@ ¥=277+102X-13X> @ Y=277+102X-13%"
(B) Y=277-54X-1.69X? B Y=277-54X-1.69X2
@ Y=277-54X-13X? @ Y=277-54X-13X2
(5) Question not-attempted () argailRa wee

67. 1t X has a chi-square distribution Wlthn df,find 67 3fg X, n Wr=g Bifc & ARI Bls—7 97 &,
the probab111ty density function of = ar -;E'cb‘r WSl 9T BT ST PTG | ;
D gamma G' n_) @) gamma (n ) M gamma e n) (2) gamma (n?) ’

(3) gamma (n) @ samma G 11) (3) gamma (n) @ samma G n)
(5) Question not attempted () 3F<IRT ueA

68. For Poisson distribution - 68. Qrrgf de & o —
MR~p~3=0 @p=H MB—P1—3=0 @Ppi=p
@ B—Pi+1=0 P —Po=1 @B —Pi+1=0 @B —p=1
(5) Question not attempted (5) saIRa weA
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69.

70.

71.

“

In an RBD having 5 treatments and 4 blocks with'

one -observation is missing and following

‘information is given -

Total number of known observations
corresponding to missing treatment = 40

Total number of known observations of the,

block having missing treatment = 50
Total of all known observations = 250
The value of missing observation is -
(1) 20 2 15

3 10 4) 12,5

(5) Question not attempted

Which of the.following methods is used to
measure the irregular component of a time
series?

(1) Variate Difference Method

(2) Simple Average Method

(3) Ratio to Moving Average Method

(4) Method of Least Squares

(5)- Question not attempted

For two events A and B, if P(A) = 3,

3 1
P(B) == and P(AnNB) =—,then A and B are —

(1) mutually exclusive but not independent.

(2) independent but not mutually exclusive.

(3) not mutnally exclusive and not independent.
(4) mutually exclusive and independent.

69.

70.

71.

TS IGRBHIHd TUSH  AMGdTT T

5 IUART 3R 4 Eresd! § uE UEr g ¥ el

e g &1 g § —

I STER B &y 1Y GEvil &1 AR = 40

gmﬂ?ﬁwaﬁﬁqwﬁwﬁm
50

I QT T Seren &1 AT =250

T VeToT BT A & —

(1 20 2 15

3 10 (4) 12.5

(8) srgaRa s

U @Ta Aol B AT "ed o 99 & forg
= A 9 S Y o1 v e srar 87
(1) =R arox 9l

(2) TrIRor w1y {3

() 71 Ay U

(4) = o fafy

(5) argaRe w=A

3 wesit A @ B B R Al pa) =3,
P(B) =2 GATP(ANB) =3, T9 ATRITB —
(1) R 3yudsi € ife @l 81 & |

(2) W= 8 ot TR Iugell a1 B 1

(&WWGﬁHﬁ%ﬂmmﬁﬁﬂé’f%I
(4) TRER SaeT e WA ¥

(6) Question not attempted (5) arfeifRa weA _
72. Kurtosis is a measure of - 72. weift e # 9 e Auw 27
(1) Quartiles (2) Symmetry of curve (1) I 6l (2) 9% ¢ Tufaar &7
(3) Peakness of curve  (4) Dispersion of curve (3 TE P Has B B TP D UHI BT
(5) Question not attempted _ (5) e uee
73. In a 2% confounded factorial experiment the key 73 Us 23 yfq sgourer warl # §ull WUssh
block is - g -
_ (1), (ab}, (ac), (bc) (1), (ab), (ac), (bc)
then the confounded interaction will be - 4T sFa=iERaT 8 —
(1) AC (2) BC (1) AC (2 BC
() AB (4) ABC (3) AB ' (4) ABC
(5) Question not attempted ' (5) argaia wee
74. 4 cards are drawn randomly from a well-shuffled 74 T aredl oRE & A3 52 @ @ wal &
pack of 52 cards. What is the probability that all TS H ¥ 4 ) Agfee w9 e T
cards are black or red? Bl wi¥mar 8RN fob T TRY BTl A1 A
M 2(4), @ () : GG
163 11) : (1 2:(%) () %
(26 26 5
@) s @ 500 @ ()
3 4 57 52
(5) Question not attempted (5) \,ﬁ%ﬁﬁ — 1)
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75. Tn the usual notations, RZ ,5 is equal to - 75. g HaarrRi 3 R, e § 9 g m -

(1) rfp + {3~ F12Ta3Tzs (1) riz +1f5— rizraghos
(1-2r%;) (1-2r%;)

(2) riz +1f3—2r3 (2) rfz+1i3-212

(1-r%5) (1-1%3)

(3) rf; +rfz—2rior1s (3) rd; +r3-2 145145
(1-1%5) (1-13s)

(4) rf, +r{s—2riorasras (4) 1%, +rf3—2ryory37s3

(1-135) (1135

{5) Question not attempted (8) Sriiver WA

76. A and B are two independent events such that 76- A T B 3l WaT ICAR §9 UOR § &
P(A) = 0.7,P(B) = kand P(AU B) = 0.8 then P(A) = 0.7,P(B) = kITP(AUB) = 0.8,k
kis- T -

(s 1 (1)'s ® 1
- U

32 42 (3) 2 4 (4) 2
5 7 z

(5) Question not attempted ~ * (5) ar:ﬁ-rﬁt-r EC) ’

77. IfX and Y are independent Poisson variates with 77+ 9% X 3R Y w@as Qe @) &, ﬁFﬂ'Tr ey
mean A1 and Az respectively, then find the A M AR A B, @ X =Y & WMAHar 0
probability of X =Y. 2f?

(1) e o (Adz)" o o (A
(a+2z) yroo 1rr)22 M) ~r+2g) ad ((;)22)
(2) e~ (A1t+2z) Mads (2) e~ (A1t 22) Mhs
r _ r
(@) (Ae™1) (A e722) (@) (Ae71)(2e722)
4).e— A1t 22) (4) g—(a+22) .
(5) Question not attempted (5) iR o _

%} Let us consider a population T = (Y1,...rere... o 8 AR m=(yi,.teyn) T GERE B, RRY 7T A
divided into two groups, one containing an & AR TR ST AN 3§ o fear mar €, v
attribute A and others do not. Further, let N1 be 3 W A ol o ¥ S wERe @1 N
the number of population units containing the T A ' N — ~

‘ attribute A, then under Simple Random 2 l. SR R ' el Hlgl=de
| Sampling With Replacement Scheme the feroRr wftenee fafy & sofd P=NuN @
variance of an unbiased estimator of P = Ni/N ST MHAP BT YT & —
is - El, Q=1-P, TN n WEsl &7 3R 2]
where, Q = 1 — P and n is size of the sample. ()71 1 (@ (N
(1) (E - 1) PQ 2 (E - 1) PQ (; - ﬁ) PQ (E - 1) PQ
n N b (3) _PQ_ (4) PQ
(3) % @ n-1) n
n—1 n .
(5)'Question not attempted, (5) argeifRe e

79. For a population size 6 and sample size 2 from 79. g gAfte oIS MHR 6' T e S W T
there-in, the inclusion probability of a particular X del ufiedl @ Hewm 2 g 9 R
thunit =1, 2, . , 6) under Simple Random AgREH AR At faffy & i e
Sampling With Replacement is - gﬁsaﬁ]i I3 (i: 1, l‘gﬂ'«'ﬁ’ 6) % wikred # wfFfer
o) N 22 ' ' B

6 6 ) (22
3) 11 4) 25 6 .6
@ = @ (@) 1L () 25
(5) Question not attempted (5) ‘33qﬂﬁﬁas ] ae
00 - Page 16 of 32
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80- Which of the following is not a division of

81.

82.

85.

@1 @1

National Sample Survey Office (NSSO)?
(1) Data Processing Division

(2) Field Operation Division

(3) Survey Coordingtion Division

(4) Industrial Statistics Division

(5) Question ng't attempted

The properties of characteristic function are —

Oy @O=1 ’

@) @) < 1;forallt

(iii) If y (t) is the characteristic function of X,
(), complex conjugate of y (t), is the c.f.
of (-X)

(1) All are true

(2). Only (i) and (iii) are true

(3) Only (ii) and (iii) are true

(4) Only (i) and (ii) are true

(5) Question not attempted

If N = nk be the size of the population, where n

is size of the sample and k be an integer constant,

then under systematic sampling the probability”.

of selecting a sample is -

(m:ne 2._1 }
k Nc,

NP K
(5) Question not attempted
The full form of CSO is -
(1) Central Sample Organisation
(2) Central Statistical Organisation
(3) Central Statistical Office
(4) Central Sampling Office
(5) Question-not attempted

- Which of the non-parametric test is used for

testing the randomness of-a given sample?

(1) Run test (2) Wilcoxon test

(3) Median test {4) Sign test

(5) Question not attempted

In the agricultural field experiments, the fertility
variation is obtained through the technique of -
(1) Method of moments (2) Replication

(8) Uniformity trials

(5) Question not attempted

(3) Randomisation

" 80.

8t.

82.

83.

85.

= § 9§ B =T el 9d s &

T T8 &7
e

(1) IMHST TATHROT THI

(2) &= AR WERT

(3) ¥d GHGT AT

(4) sfenfe AiRars) g9 RT

(5) argaRa weA

foreteror W @ o7 & —

v 0)=1

) el < 1; e s for

(ifi) IFe y (O), X BT faeror B 8, 1o,
v (t) BT A8 [ B, A (X) BT

) o 9 &

(2} BT (i) TAT (iii) T & .

(3) Baer (i) TAT () TT

(4) Bael (i) T (i) T &

{5) argIRe e -

If& N = nk U GARE, ®T 3MBR B, W&l n
vitrgel @1 ImER & e kUe guile Reris

aq FEihd e, R & sigia e ey

& T P W¥mar & —
(1)E (2

Ncn
(3 L

@1

NP k
(8) aFaRa T
CSO & fawmiRe aref & —
(1) B wfdeef e
(2) =g ikera e
() = iRz P
@) D= ufes s
(5) sryaiflRe geA
ffaRag § 9 o9 IR-Rifce oe
ﬁﬂﬂﬁﬁgﬁuﬁfﬁfaﬁu@%@wwm
B Pl 87

(1) = odeor (2) el T
(@) wfeept wEr (4) forE. TRE

(5) sraRa .y

UF P Bies JITT H, IR feaeT W e
P TBAD & — ‘

(1) ameeli &1 fafy (2) gRIEgRY

(3) TrgREBIHRT (4) THEAE IRIETOl

{5) ar<Ika weA

00 - El
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86. The average wages of a community in the base  86: amuR af 2011 ¥ TH Y& & siwq o)
year 2011 were T 4000 which became ¥ 7200 in 4000% =T §T 2015% g 7200T 2 7 [ IR
2015. If the price index in 2015 was 300, then 2015 & o8 GEEi® 300 &, a@ 2015 4§ @
the real wage index in 2015 will be - afis Aogd YEDiG B —
600 gy @750 () 60.0 (2 75.0 .
() 56.5 % ) 62.5 3565 ceoa (@625
(5).inlles'tion not attempted (5) Wﬁa go 1
87. If X, Y and Z ére three random variables, then -  87- |

(1) Cov(X+Y,Z)=0

(2) Cov(X+Y,Z)=Cov(X,Z, YZ)

(3 Cov (X +Y, Z) = Cov (X, Z) + Cov (Y, Z).
@ Cov (X +Y,Z)=Cov(X,Y,Z)

(5 ngstion' not attempied

afk X, Y oo Z 9 aghes = %“ T —
M Cov(X+Y,Z)=0

@A Cov(X+Y,Z2)= ,Cov X,Z,YZ2)

(3) Cov (X +Y,Z)=Cov (X, Z)+Cov (Y, Z)
(@) Cov (X +Y,)=Cov(X,Y,Z)

(5) sraIivg o=

88. Let p be the probability that a coin falls head in ~ 88- T & €f ¥ U& 9> 1 SBIEN N ¥ I
a single toss. In _prder totestaHp: p=1/2 vs GalksLIESI) p 2 Ho: p=1/2 ﬁw Hi:p=3/4 i
. Hi 2 p = 3/4 a coin, is tossed 5 times and Hy is EﬁﬂﬂﬁW@%ﬁWﬁﬂ%ﬁSﬂwm I
rejected if more than 3 heads are obtained, then T, Ho Dl SFRPR &3 £ Il 5uo 39 ols
obtain the power of the test - %gmg ﬁwq&maﬁwﬁaﬁam‘r—s
(1) -_.8._..6._. - (2) .8_1 (1) 86 . (2) 81 ’
128 128 V= — ]
(3) 83 4) 72 (3) 83 @ 79
128 128 PP 2
(5) Question not attempted ’ (5) (ﬂﬂﬁ‘ﬁﬂ e p
89. For a fixed ‘effect linear model of one-way 89 U& MiRad wwia dfse fo/Tsr wHET @i
classified data ysy = + T+ €5; i=1, 2,......t; TiRor hrT I g &
j=1 2 v and &~ iid N, 07, the v(T) Vo= G E; i= 1 2l =1, 2
is - ’ 9 Lyesseegly y Sdgencencs »
o1 3R &5~ 1id N(0, o?); v(§) & —
M2 () = —O‘e
M 2s2 (2) =1 52
tr t
©) - 2 N ) Rt
()(t 1) o @ - 87 (3) (t""l)Gez (4)1;—_10_2
. r
(5) Question not attempted 5
(5) aaaﬂﬁﬂ W=
90. Which of the following is one dimensional 90. e & § Fray R Te amaEd &7
diagram? - (1) se ) g
(1) Cylinder (2) Pie - Chart
yine o @) IR~ (@) 377 o y
(3) Bar Diagram (@) Circle Diagram .
(5) Question not attempted (5) SrgiRe et : ’
00 - Pagé 18 of 32 y
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91. The appropriate measure whenever the extreme
jtems are to be disregarded and when the
distribution contains indefinité classes at the end
is - '

(1) Mode . (2) Standard deviation
(3) Quartile devi;t,ion '(4) Mean
(5) Question not attempted

92. I et the r. v. of X have the distribution -
PX=0=PX=2)=p;
P(X=1)=1-2p,for0<.p < >

for what p, the Var(X) is maximum?

(5) Question not attempted

93. The salary of a pérson'i‘n- the base year is ¥ 20000
per annum and T 50000 in thé current year. The
CPI is 325, then the allowance required to

maintain the same standard of living is -

91.

92,

93.

I oRE AF o SHISAT P SR HRAl |l
AR w9 §eq 3 I F aff¥Em ad = al

SUL AH B —

(1) 55 (2) 9 famem
O upfe Ree () T

(5) srgaRe U

Ik FgRed TR X BT 9 39 UHR 8 —

PX=0)=PX=2)=p;
P(X=1)=1-2p,0 £ p < >3 R
apﬁmmﬁiﬁm Var(X) S 8I?

1),-1 @1
Mp=1 @p=1
3) =2 4 _1
@ p =2 @p=1
(5) arg<IRT U

I oY § U @fdd i @ii¥e emy 20000 &
e TIE 9Y | SHS) 9ifid I 50000 T
A ST qed qEwie 325 9, @ w6 @l
ﬁw@mwwﬁ%ﬁwaﬂ?%ﬁmﬁ
P SIS BIITP

(1) 12000 (2) T 12500
, , (1) 12000 (2) 12500%

£ 314000 ;) R15000 (3) 14000 % ) 150002

(5) Question not att_empted? ~ (Sémﬂﬂ'ﬁﬁ T
94. Efficiency of RBD relative to CRD having 94 CRD® wﬁa Ll RBD BT TEIAT BT STl QT

exactly the same number of experimental units tr H gRIRE THRAT tr WE-REN &, 9P ¢

8 _

is, where t is no. of treatments and r no. of STAR! F ST 99 JRIgRY 1 Her & —

replications.- . 4 (1) i(t~1)MSB+t MSE

(1) r{t=1)MSB+t MSE Y (tr—1)MSE

- (rLUMSE (2) (-—))MSB+r(t-1)MSE
(2) (r~1)MSB+r(t~1)MSE (tr—1)MSE
(tr-1)MSE .
_ (3) (t=1)MSB+r(t—1)MSE )
(3) (t-1)MSB+r(t-1)MSE (tr—1)MSB
(tr-1)MSB
(4) —1)(r~1)MSB+r MSE @) (t_l)(r_zr;:mr MeE X
MSE ot
(5) Question not attempted ' (5) srgeia s
v J £a

00 - El
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95. 10 is the mean of 7 observations and 5 is the 95 7 Yevil BT AR 10% Tom 3 Je T ARA 58, /
mean of 3 observations. The mean of combined 'HT{%?E Yot PHT-RT BT —
set is given by - M) 15 @ 8.5
(M 15 (2) 8.5 .
@) 10 @) 1.5 (3) 10 @ 1.5
(5) Question not attempted (5) s weA

96. Who gave the method of moments in Estimation ~ 96- gficper Ryiar # st Ry Ry &) o2
Theory? (1) et forrel (2) et
(1) Karl Pearson (2) Galton
(3) Fisher (4) Neyman (8) R )
(5) Question not attempted | (5) ergaiRa e |

97. Using principle of least squares, which curves o7. | o Rigid R, Pre R W o §
will be fitted for the given cases? F T T S T ST -
i) A (Log yi) = constant N
Ei:) ‘A (yf gtz,n:is to decrease by a constant - @ A Logy) =¥

percentage (i) A y: B =R Hided ¥ TS o WgRY :5\
(1) Gomperiz curve, modified exponential curve (1) ey 9%, Gt sREY 9%
(2) Logistic curve, exponential trend curve (2) ifoiRes =%, TROEY Sy 6
(3) Exponential trend curve, modified 5 .
éx;)onential curve © S 5, U TR EEB

{4) Exponential trend curve, parabola (4) =REI ST 956, SRae
(5) Question not attempted (5) 3rgaiRa we

98. What is the share of Rajasthan in total livestock 98 Y3[qrer o - 2012 & IR ARG & FaA
of the country as per the Livestock Census — IR ¥ oI P REar e 27
20122 . 1 15.27% (2) 10.27%.
(1) 15.27% @ 10.27% ' ,

" (3) 11:26% @) 20.27% 3) 11.26% (4) 20.27%

(5) Question not attempted (5) SgaiRT wes

99: Mode and Skewness of x” distribution withn df. 99 x2§e+ &7 sgas IR Rvw n wdmaT DR
is - Gl
(M n-2), [ @m-1), [ E (1) (n = 2), \E @ (0 - 1), \/g
@ (-2), 2 @@-1), 2 Ow-2,2  @a@-f2
(5) Question not attempted (5) argafa wes
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100. 1f data is of qualitative in nature, then only vlvhich
coefficient can be calculated?
(1) Spearman Correlation Coefﬁ@ient
(2) Karl Pearson Correlation Coefficient
(3) Partial Correlation Coefficient
(4) Circular Correlation Coefficient
(5) Question not attempted

101. The annual frend with 1981 as origin for X units
production per year and annual demand
Yis- :

Y=1488+72X

The quarterly trend equation will be -
M Y=372+02X
BY=124+015X @ Y=372+015X
{5) Question not attempted

102. Gjven ‘the sum of the products of prices and
.quantities for the current year 1 and base year 0
for five items as -

2 Podo = 782, X poq: = 1008,

Y p10o =1084, ¥ pyq, = 1329
On the basis of these data the value of Fisher’s

Price Index will be - ~
(1) 130.60 (2) 138.70
i+ (3) 135.19 (4) 13245

(5) Question not attempted

103. {le and T are two unbiased estimators of 6 and
V(T1) and V(T?2) are their variances, then Ti is

said to be more efficient than T2, when -

1LY
(2)Y=15.4+1.8X%

100. 7fY ariwmel & UH [ONCHD B, Y Bl B
IOl B IO H W GHaT 87
(1) WRRAT wEks Tonie
(2) BTl RRRiT weder e
(3) @il wedey e
(4) T T TS
(5) arg<iRe geA

101. 1981 %! Tv% AF ¢ UfEd X 3P @ Sred
@ Y 3o ufied | & g aiffe swlr
TG & —

Y=1488+72X

T 17 SRGD STy TN B —
MY=372+02X @Y=154+18X
@ Y=124+015X @ Y=372+015X
(5) argaie wee |

102 g 9 0 wor areg A 1B forg 5 axgalf B
e Td A1 & OFRT AT R TeR ¥ R
T

2 Poqo-= 782, X poqs = 1008,
Zpi(?lo_ =1084, ¥ p,q; = 1329

5 9P & IR R R o1 19 GEaie

T | BRIT —

(1) 130.60 (2) 138.70
(3) 135.19 (4) 132.45
(5) JEIRT U=

103. 31f TiVE. T2, 0% T S99 dbeld & aul
V(T 3R V(T2) S99 TR &, @ T, T2 9
IIf¥rF 587 BN, o9 —

. 1 ) = 2
O VT =0 @V >V M Lt V(IR =0 @ V(T)>V(T)
(®) V(T,)) < V(Ty) () ST H | Pg N
3 V(T < V(T,) (4) None of the above - .
(5) Question not attempted () sraRa we
104. The test statistic for testing the significance of  104- IR Hoba e & AT p =0 P WEfFH
p = 0 with usuval notations is - @ Ther &g uder e & -
—— 2fa_ Y, /-2 (2), _ r*(1-r3)
Ve S D= rz‘((:- ;)2) =S 'S Taw
@, _ /G2 @, _ ®i_nen @ _yaD
't Jam t= oo V- T Ve
(5) Question not attempted (5) srgaiRe wes '
- 00 - B
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105. The Agricultural Censns in India is done in

every -
(1) 5 years (2) 10 years
(3) 2 years @ 1 year

(5) Question not attempted

106. The solution to a transportation problem: with m-

rows (supplies) and n-columns (destination) is
feasible, if the number of positive allocations,
is -

(1) mn (2) m+n+1
(3) m+n (4) m+n-1

(5) Question not attempted

3 9 2
107. The rank of matrix A= {1 5 6] is -
2 7 4
M1 (3
(32 @o

(5) Question not attempted

108. 1t P,(x) is Legendre’s polynomial, then the value

of P2,(0) is given by -

{1) _4yn135..(2n-1)
=D 2.4.6..(2n)

(2) 1.3.5...(2n~1)
2.4.6..(2n)

(3) /_4yn 135...2n+1)
1) 2.4.6..(2n)

(4) 1.35...(2n+1)
2.4.6...(2n)

(5) Question not attempted

109.The solution of the differential equation
ay\ .
y=4xp ~ 16y*p?, (p = d—z) is -
(1) y*=Cx-C? @) y=Cx-C?
B y*=Cx-C? 4) y*=Cx-C?

(5) Question not attempted

105. iRT 4 B SFOFT @Y Wl § TSe —
(1) 59§ ¥ (2 10a¥ ¥

3 299 # @ 199 %

(5) SFTIRT e

1 4
Iy /e o

06 —dferrell (o) o n—wre () @ |
UReed WU B & GEII S, IR gNoIe

Sgesl By =T & -

(1) mn (2) m+n+1
(3) m+n (4) m+n-1
(5) SrgaIRT T
3 9 2
107.311qu=[1 5 G]H%Eﬁlﬁf%—
2 7 4
M1 (23
(32 @0
(5) srgailRe Uz

108. g% Py(x) oo~ 98US &, O Pan(0) &1 9F

g —
(1) ;_4+n L135..(2n~1)
=1 2.4.6..(2n)

r

(2) 135...(2n-1)
2.4.6...(2n)

(3) ;_qyn135...(2n+1)
( 1) 2.4.6..(2n)

(4) 1.3.5...(2n+1)
2.4,6..(2n)

(5) sriRa weA

109- srreper wefteeT v = dxp - 16y*p?, (p =

) ™
i

M y’=Cx-C?
(3) y?=Cx-C?

(8) rgmiRa ueA

2 y=Cx -2
@) y*=Cx -2

00 - [=]
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110. Which one of the following statement is correct? 110 formiforRaa & & S wom w1 87
; .

111

112

113.

(1) Every scalar matrix is an identity matrix. (1) U AT MR, [F o Mg Bl
(2) Every diagonal matrix is a scalar matrix. &
(3) Matrix multiplication  is always (2) % et ey, T aifter dregw 2T 2
commutative. (3) STME U FIT ARG B §
(4) Every scalar matrix is a diagonal matrix. . @) v s aTgE, v Aot e BT ¥
5 p .
(5) Question not attempted 1 (5) srpeRer we
- The particular integral of differential equation 111, x 8N _ =
P v IES WERY S+ 2 (x—a) =0, <&l
wty&—a)=0 where 2, b and gare, - 5 pg g R weE IR E @1 Rl

E

different positive constants is - L FEHd & —
e B

(1) a (2) & okt (1) a (2) 8 :
b u. ':! :I':T .b

(3) 0 @b 2 (3)0 @b

. g . ﬂ g
(5) Question not attempted (5) T

" The series Ef:"i% , (x> 0) is divergent, if - 1i2. oy %, =0n—;—‘:—1-, (x > 0) IUEN 8, 9% —
(M x>1 @x=1 (1)»‘%  @x=1
@) x<1 @x<1 @) x<«|l (4)3‘;51
(5) Question not attempted ) (5) arIRa u=A
, , . 13. 1 | : _
The inverse Laplace transform of ——-——is - Fizeras P HoPH I WH?UT“%‘*
(1) g-2t ¢os3t — %e“Zt sin3t (1) g=2t o3¢ — -:;e'Zt sin3t
(2) o-2t og3t —% e~2t gin3t @) =2t 053t — ge’Zt sin3t
(3) e—2tcos3E + ge‘z" sin3t () g~2tcos3t + ge‘“ sin3t
4 e—2tcgs3t + ie‘“ sin3t () e-2tcos3t + %e““ sin3t
(5) Question not attempted - (5) IgFIlRG g
- The equation x* + 5x° — x® + 7x + 9 =.0 has 114G X #5x° -2+ Tx +9=0 D A BT —
T00ts - (1) sy, < ST T
1 .
(1) at most two positive roots (@) sl A ST e
(2) at most three positive roots )
_ Po! {(3) s A oD e
(3) at most three negative roots
(4) ¥ T FOMTAD Fol

(4) at most one negative root °

(5) srgafd ue=

(5).Question not attempted
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115.

116.

117.

118.

119.

If a, B, v are the roots of the, equation

8x3 — 4x2+ 6x — 1 = 0, then equation having roots
1 1 1.

a+o B+ y+sis-

(1) 4y*> + 8y -8y -3=0

(2) 4y* - 8y*+8y +3=0

(3) 4y* + 8y* — 8y +3=0

(4) 4y —8y*+8y-3=0

() Question not attempted N

The table below gives values of a function f(x)

obtained for values of x at intervais of 0.25, the
value of the integral of the function f(x) between

the limits 0 to 1 using Simpson’s (3) rule is -

x | 0] 025 | o050 075 1.0
fx) | 1| 09412 | 0.8 | 0.64 | 0.50
(1 2.3562 (2) 7.5000
(3) 0.7854 (4) 3.1416

(5) Question not attempted

The height of the cylinder of maximum volame
that can be inscribed in a sphere of radius ‘a’ is -

(1) JE (2) 22
;a . 3

ol ol B
(3) v2a 4) 22
3 V3
(5) Question not attcmpted
The value of f g ‘/-__
iz & )_@_ B
T Ve
1
Je i 3 dm A
@ -7 @ - T==
T B

(5) Question not attempted

If y = x is one of the solution of differential

2
equation x? M + xisf —y = 0, then the second
linearly 1ndependent solution of the above
equafion is -

115. 518 wfider 8x° - 4x2+ 6x - 1="0% &

o B,y E ﬁ‘Ta+§,B+%‘,y+-1- Al arell
TR § —
(1) 4y3 + 8y — 8y -3 =0

2 4y - 8y* +8y+3=0

(3) 4y + 8y*— 8y+3=0
@) 4y’ -8y’ +8y-3=0
(8) Srg<IRa weA

-:ﬁﬁﬁﬂS‘WﬁOZSH%WTHWxEBW

o forr e wen f(x) & "M el 8, e
(3) Fremt o7 SRivT B §Y W 0 W 19 A
Ber f(x) d GHIGET BT AF & —

x ) 0.25 050 | 0.75 1.0
fe [ 1[09412] 08 | 064 [ 050
(1) 2.3562 (2) 7.5000
(3) 0.7854 (4) 3.1416
(8) argaRa e’

- BT ‘2’ @ U e H eafdee srffraa s
@ o B HAR & — \

(1) JE (2) 22
;a 3
{3) v2a (4) 22
ER V3
(5) FrgaiRer we
Ik o f T

4 IZ
4 a
1
Ju 13 31/—i
(3) —- @ A=
N T
(5) srg<IRa U=

- 2 [
IRy = x, IGHA THHBIT x"-d—xy+xd—i—

y =0 B TG &1 &, O SRS TSR BT
IR Yepe: W@ad g & -

(1) e 2) 1
(1 ;{%2_ (2 i = 2 :
@) x*(ne N) (@ x> B x"meN) (4 x?
(5) Question not attempted (5) argeia e
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121.

125

120.

122,

- (3) f(.X.

123.

124.

" Value of the integral fol fylz fol_xxdz dx dyis -

@ L

1 -1 1 4 2 2
IfA= {2 1 —3], 10B =[—5 0 a] and B
11 1 L1 -2 3
is the inverse of matrix A, then the value of o
1s -

(1.2 @5

3) -2 @)1
(5) Question not attempted
Envelope of the curve y = mx + %, wheremisa 121-
parameter is -
(1) y2= 4ax () xt=y
@B x=y (4) x*=4ay
(3) Question not attempted
122.

The general solution of the partlal differential
equatlon (y x — 2x% p+ (2y* - x%) q =
9z (x> - y3) is - :

M s (x2 szxyz) 0
(2)f(§ y'—z,XyZ)=O
yiz,x3y?z)=0
@ (22 oy3p) =0

{5) Question not attempted
One of the solution of differentlal equation

2

X+ yp? —(1+xy)p,wherep—-— is.-
My*—x—c=0 ()y—Ex —c=0

@) y?-x*+c=0 @) y-x>+c=0
(5) Question not attempted

Solution of the following assignment problem
is—

C :

15 .
6 -

15
20

SEHE~

M'ASIV,B>1C—II

@DASIV,BSIOLC—HI
BRNASLBSILC—II
DA-SLBSIOL,CoII
(5) Question not attempted

(1) £

35

@ 2

7
4 2
35 35

(5) Question not attempted

120.

123,

124,

125.

1 -1 1 4 2 2
gt A=]2 1 —3], 1013:[_5 0 a]?f?ﬂ
1 1 1 1 -2 3

B, A &I EHd AR &I, ot o BT AN & —

m2 25

(3) -2 41

(5) sIgaRa v

Wh y=1mx +—, S8l m GF Wil 8, ST Taey
g -

(1) y2_= dax (2) x2=

B x=y (4) x2=4day

(5) 3rgeIRe we

(2y*- xy)q 9z (x* -

(1) (Xz 7 xyz) 0

(2) (x +y2,xyz) 0

@) ¢ (X2+%,x3y3z)=0

@ ¢ (xz__x_ x3y3 23) 0

) rRiIRa w=m

AP THERT x + yp® = (1 + xy) p, el
pP= y% BT UH B § —

(T)y —Xx-c=0 @y _1x2_c=0
@) y?—x%4c=0 @ y—x*+c=0

(8) argafa uwT
1 e aar T 8 @ —

A B C
If'9 26 15
I3 27 6
mp3Es 20 15
v[ig 30 20

MASIV,BSLCoII
(2)A—>.IV,B—>III,C—>II

BASLBoSILCoIH

@MASLBoHLC—I
O srRa v -

AP [ [ [ xdz dx dy &1 7 & —

n 2 (2 1
35

3 L : @ 2
35 " 35

(5) IFfRIRT Te

00

- =
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126. The Fourier sine transform of €, a > 0 s -
(1) 2 az, (2) 2 52
7 s2+a? E s2+a?
(3) 2 a (4) 2 s ’
-1; §24-a2 T s24a?

{5) Question not attempted
127. In terms of Legendre polynomials Po, P1 and Pa,
x> + X is equal to -

(1) épo +P, +§p2 (2) Po + P1 + 2P2

@ 2k +3P, @1p, +P +3P
(5) Question not attempted

128. The value of cosx in terms of Bessel’s function
of first kind is -
() Jo(x) = I2(x) + Ja(x) —.....
(2} Jo(x) + 2J2(x) + 2J4(X) + ... x
(3) Jo(x) + Jao(x) + Ja(X) + ....... -
@) Jo(x) — 2Ta(x) + 2Ja(x) —

(5) Question not attempted

129. The Laplace transform of Bessel function Jo(t)

is -

{1 2 5
) . @ ==
3 s 4 1
@1+ @1 - o=

(5) Question not attempted

130.1f y = x is one of the solution of differential

. 2
equation (x*+1) 3732’ — Zx% + 2y =0, then
another linearly independent solution is -

My =2y @ y=x2-1

@ y=rnx @ y=2x

(5) Question not attempted

126,

127.

128.

129.

130.

e, a >0 BT BRI HET AU § —

M o az (2) 5 s2
T s2+a? T s2+a?

(3) 2 a . (4) 2 s
 s2+4a? ' | s2+a2

(5) argaRa we
ooli=s §gue Po, Py e P2 & WY 0 x2+x
WL © —

M %po +P +,§ p, (@Po+Pi+2R,

32 z
3 PO( + 3 Pz

(5) arpeIive ue

WP+ P +:P

r

‘YoM YBR P 99¢ belT P &Y 1 cosx BT AN

-

(1 Jo(x) = J2(x) + J4(X) — weveve
(2) Jo(x) + 2J2(x) + 2Ja(X) + .oeee
(3) Jo) + J2(x) + Ja(x) + oo
(4) Jo(x) — 202(x) + 2Ja(x) — .......
(5} rgaiRar e

I BT Jo(t) BT ST Ul & —

~

(1 2L (2) =—
VsZ+1 t Vs2H1,

3 S 4) 1 _

@1+ @1-==

(5) argaiRa we

Y y = x, dGHA AHGII (x2+1)%-—

2x—+2y 0 @I Y& B &, T AT NI

©|a, 89 § —

)y =1y @y=x-1
@) y=mx @) y=2x
(5) argaRa w3 ‘

00 - E
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131 Which of the following statement is not correct?

(1) The closed half spaces Hi = {x! cx > z} and
Hz = {x | cx <z} are convex sets.

(2) Intersection of two convex sets is also a
convex set.

(@ LetA={x1-x2ix1€8,x2 € T}, where S'and
T are two non-empty disjoint convex 'sets,
then A is a convex set.

(4) If S and T are any two convex sets in R™, then

for all scalars & and B, the set &S + BT is not 7 g

convex.

(8) Question not attempted
132. One independent solution of partial differential

equation

yzp +zxq = xy,(wherep ——, q= az)1s-
2 x2-y2=¢
@x-y=c

(8) Question not attempted

M x2+y’=c

@ x+y=c

133.
Ifu—sm‘l(r J") then x -i-ya
1) 2 (22
()-s-tanu - cotu
@ 3nu @ 2 cotu
5 2

(5) Question not attempted

134..The hypergeometric function 2F1 (o, §; B ; x)

is equal to -
(1) (1 - x)~ @ 1 +x)*
@) 1 +x)* @ a-x

(5) Question not attempted

|

1. = § 9 DI wom T 98 &7

(M ¥ga o wafed! Hy= {xl cx > z) 8k
Hz = {x | cx < z} 9@ W= B )

(2) <1 YT T F WS W @ e
TG BT 2

@) AMT A= {x1-x21x1 €8, x2 € T}, W&l S aix
T3 3N Siga 9@ == €, & A
TP HIE e B B

@A R A S 3R T S 9w wgeay &, @
4 AT o sk B o, wgeEg S + BT
A g, B | "

(5) IrgeIRa ueA

132. J1if¥ep ST TP yzp + 2xq = xy FT T

WA 5 Y - (Glﬁp=§§ae:n.q,=%)

(N x*+y?=¢ @ x2—y?=¢
@) x+y=c Wx-y=c
(5) srgeilRa uwe

133, II'f%{u—sm“l(ﬁ f) ar x 6“ 5;;:
() gtanu (@) gcotu
(3) Stanu (4) _;_cotu
(5) srgaRa ue=

134. grgReafieia W oF (o, B B 3 x) TR
3

(M1 -xpe @ (1 +x)°"
@ [ +x) @ ¢1-x)y= .
(5) araiRa o=

loo-=
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135. Solutlon of the dlfferential equation
x-——-- (2x— 1) =+ - 1Dy=0'is-
(1) y =logex (Ci€” + C2)
(2) y = e*(C1logex + C2)
() y =logex (C1e™ +C2)
®) y=e™ (C1logex + C2)
(5) Question not attempted

136. Lagrange’s interpolation formula can be used -

“(1) only for equal interval

(2} only for unequal interval
(3) for both equal and unequal intervals
(4) None of these

(5) Question not attempted

137. The value of f(1.22) from the following table
using Stirling’s Interpolation formula is -

x-:] 10 | L1 | 12 | 13 | 14
f() : | 0.841 | 0.891 | 0.932 | 0.963 | 0.985
(1) 0.9389 (2) 0.9492
(3) 0.9481 (4) 0.9380

(5) Question not attempted

138. The radius of curvature of y* = 2x (3-x%) at the
pomts where the tangents are parailel to x-axis
is -

mi
2
@1

@1

4
@1

5 3
(5) Question not attempted

139. §f J,(x) denotes the Bessel’s function of first kind
of order n in argument X, then J5(x) is equal to,
where J5(x) is the first derivative of Jo(x)

WLl X -
(1) Bx) @ 1)
@) - h(x) @ 11(x)

(5) Question not attempted

140. If [x] denotes the greatest integer less than or
equaltox and-1<a<0,0<b<1,1<c<2,

135. amao—e{ RGN
x——(Zx 1) +(x 1)y = 0 &I &0 o—
(1) y =logex (Cle + Cy),
(2) y=€e*(C1logex + C2)
() y =logex (C1e™ + C2)
(4) y =™ (C1logex +C2)
(5) argeiRa 99
136. gy sigdem g Ffiiaa @ forg wga 81
Pl § —

(1) Paal GaM I @ g
(2) Pt T I & forg
(3) T iR S HF <Al aFaTel @ g
(4) e ¥ PS5 T8
(5) srgaRa we
137. w3 Srade O3 &I SUANT TS el &1 T
wv'ﬁ%f(lzz)zﬁrqm%—
X : 1.0 1.1 1.2 1.8 14
f(x) : 0.841 | 0.8091 | 0.932.{ 0.963 | 0.985
(1) 0.9389 (2) 0.9492
(3) 0.9481 (4):0.9380
(5) argalRa oe

138. wligeor y2 = 2x (3-x2) W ashar B3 99 95
R, TR TS Y x—el B N & —

m: 1
2 4
@21 (41
5 3
(5) srgala =1

139. Y Ju(x), T x ¥ n WG PT Yo YHR $T G0
e 8, T Jo(x) BT A 8 wEl [5(x), Jo(x)
BI-x D UG T2 ATHTT & —

(1) () 3 1)
) - J(x) 4) J1(x)
(5) arfiRa weA

140. 9 [x], x § B AT WX, 5w QIS B SFa
FRAT 8 3R -1<2<0,05b<1,1<c<?2 &),

[aj+1  [b] [c] [a] +1  [b] [c]
[a] [b]+1 [c] |isequalto- ar| [l [bl+1 [q] % wwE -
[a] bl  [e]+1 [a] b] [c+1
Ml (@) [b] % () [c] (2) [b]
30 @) [a] al: 30 (@) [a]
(5) Question not attempted (5) NG W /;
00 -
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141. Which of the following is not a convex set? 141 fom=ifeiRent & & P sq@ weery :I'éT &7

(N {(x,7)13x%42y* <6} * M {(x, y) 13x%4+2y? <6}
@ {x,y) ly<x?} @) {(x,y) 1y <x?}
() {x, y) | x24+y* <4} @) {(x, y) I x*4y* < 4)
f @) {(x, y)12x+5y <7} @ {(x,y) 1 2x+5y <7}
(5) Question not attempted (8) 3raRa oo
142. Which type of problems can’be solved by using  142.Rrqerrd R & v« frd goR El'v)i
Simplex Method? el B Bl fhur-S wear 37
(1) Only assignment problems ﬁ (1) Baq FaaT GHR=Ig i
(2) Only transportation problems e (2) gt IRTET Ty
(3) Linear programming problems ' (3) W WurE T
i (4) Both assignment and transportation problems (4 Frgae 9o IReET SHET S
(5) Question not attempted (5) srgaRa W
143. The Fourier transform of the function 143. 1+2 ; —a<x<0
a
1+> ; —a<x<0 _x :
?{ o : ’ B f(X) — 1 a ! O0<x<a 'Eﬁ[
f=417a i 0<x<a ;. o sen
0 ; otherwise
BRI FIFRIT & —
M _L_gn2 (2 (2) 2vZ cos? (M _L _p2 (= (2) 2vzZ cos?(%
2Zasz o0 (2 ) ;’;E z) 2Vzasz o0 (2 ) -—‘/%E-Q-
(3) 2vZsin?(% (4) 2v2 . f(as (3} 2v7 sin2(% (4 2vZ . (as
—-JETZ‘Z) 7 as? sm(z).. ﬁasgz) 1/_352 S -2-)
(5) Question not attempted (5) Gﬂﬂﬁﬁﬁ s ’
144.Tf two roots of the equation 4x°+ 20x — 23x + 144 9T WA 45+ 2042 — 23x +6=0 & 7o
6 = 0 are equal, then roots of the equation are — TAMA €, a1 TR B qal & —
(1)i_ - @1, 11 211 "
' 6, 6 2-‘:29 6 () '6,"'6 5)2—,2,"6
(3) 1 @@Lz 3 1 4)i 1
,6,6 ~:35+6 @>,6,6 @>,2.6
6] Questlon not attempted (5) aﬂﬁﬁﬂ R

15-The particular integral of the differential 145 3fadel BRI (D? - 1)y = e + 3 cos-(4x + 3),

equation (D? — 1)y = * + 3 cos (4x + 3), where ¥

Gﬁnsimﬁﬁmwéh

d
s A (M _Ze2x 1 2 co5 (4x + 3) ) ‘
; ) H;ezx + 13—7cos (4x+3) . i N 137 '
f (2)‘—§e2x—%cos (4x+3) 3 1—5e :—ﬁcos (4x+3)
, (3) gezx - icos (4x + 3) | @) Eez" —=>cos (4x + 3)
(4) ; @2x + 2 cos (4x+3) (4) 1 g2x + —5¢0s (4x + 3)
(5) Questlon not attempted . ) i’ﬂﬁﬁﬁ LAl
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0 -h - :
146.IfA=|h O —%], then correct statement is -
g f 0

(1) A is an invertible matrix
(2) A is an orthogonal matrix
3 lAl=

(4) Rank (A) =3

(5) Question not attempted

147. The system of linear equations X + y + z = 2,
2X + y—z =3 and 3x +2y + kz = 4 has a unique
solution, if -

Mk=0 @A k=0
@ -2<k<2 (@ -1<k<1
(5) Question not attempted

148. The asymptotes of the curve x%y? — X%y — xy*+
Xx+y+1=0are-
Mx=0,x=1,y=0andy=1
(2)x=0,y=0andx+y+1=0
Brx=1l,y=landx+y+1=0 -

@ x+y=0andx-y=0
(5) Question not attempted

149. 11 £(2) = 4, £(2.5) = 5.5, then which one is the
linear interpolating polynomial using Newton’s
Divided Difference Interpolation formula?

(1) 3x-2 (2 3x
(3) 3x-3 (4) 3x-1
(5) Question not attempted

2
If £ =(0)-+xF (0) + 7 £ (6x) and
f(x)=(1-x)*?,thenthevalueof O asx — 1is-

(s (2 2

g9 . 25

(3) 3 (49 2

9

150.

25
(5) Question not attempted

0 ~h -
146.11!%A={h 0 j],efrmﬁm%—
g f 0 ’
(1) A TF FEHAYN AR © 1
(2) A T TS IMFE ©
(3) 1AI=0
T @AR PR3
(5) srgaa o=

187. Yfge GOl x +y +2=2,2x+y-z=38R

8.9 xy? - &2

3x+2y+kz=4 & Fom =1 7@ fgdT g

qﬁ- — \
k=0 . @k=0

‘@) 2<k<? @-1<k<1

(5) IIRT w¥H

y—xy2'+x+j+11;OT=ﬁf :
Mx=0,x=1,y=03Ry=1

@ x=0,y=08Rx+y+1=0"

@ x=1,y=13Rx+y+1=0
MDx+y=03Rx-y=0

" (8) srRe uE

149. gf% £(2) =4, £(2.5)=5.5, ﬂ*wﬁ‘“ﬁﬁw

JOIH G B T W B R SR

489S W EFI?

(1) 3x-2 (2) 3x

(3) 3x-3 4 3x-1 ‘ LY
~ (8) IrgaRa W

150, I f(x)= f(0)+xf(0)+—f(ex) 3R

f(x) =(1-x)%*, < x—>1n-\:easr=n=r g -

(s @ 2 .
9 25
(3 2 ' (@2
25 9
(6) SR ueH

00 - [
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